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faFt 1 1B TR RT3 S A AT 11514} 19,700 0.0 19,700 0.0
faFt 2 =aAIL2THE112%&34t 55,000 1.9 54,000 1.7
faFt 3 FR1TH1705% 51,800 0.0 51,800 0.0
B 4 fEA2TH703% f£A2—7-3 64,500 0.0 64,500 0.0
B 5 XR6TH1811%&1 XR6—18—19 57,200 0.5 56,900 0.0
B 6 X|MMAITH810%H WAR3—8—14 82,100 0.0 82,100 0.0
&3 7 MYH2TH1007F |mYH2—10—8 67,400 0.0 67,400 0.0
&3 8 EA1THE1007%3 mA1—10—5 69,000 15 68,000 15
&3 9 EF4TH607H BF4—6—09 43,800 -0.5 44,000 -1.3
et 10 JEET157 %24} 51,600 0.8 51,200 0.4
& 11 SISFOE1THO02%E 30,400 -0.3 30,500 -1.6
B 12 BR1TH611%E BR1—6—25 63,800 0.0 63,800 -0.2
& 13 #ISTH1315%& 59,000 1.7 58,000 0.7
B 14  X|#81TBE2112% 58,300 0.9 57,800 1.4
& 15 EFAT59F E729% 14} 12,800 -0.8 12,900 -0.8

Bt 16 2KET131F T EARsE4 24,800 — R5{KLE
& 17 XHE3THE1202&F 14 |XHE3—12—20 83,200 1.8 81,700 0.2
_ & 18 X|=k3TH1516% FXK3—15—17 94,100 0.0 94,100 0.0
T B 19 E/K1THS010& F5k1—30—23 72,500 0.0 72,500 -1.0
4| = &t 20 ETE3THBE1213%% |ATE3—27—13 58,600 0.2 58,500 0.0
&t 21 hH2TH705% 23,600 -1.7 24,000 -1.6
. it &t 22 FHERT1FRHE8ES 52,800 0.0 52,800 0.0
& 23 —NE3TH702&F |ZDE3—7—20 83,000 3.1 80,500 2.5
& 24  X|dtmvE2THE715%34 |dLmYE2—7—39 76,400 0.0 76,400 0.0
& 25 Z2HE1TE1016%2 ZFE1—-10—3 47,100 -0.4 47,300 -0.8
B 26 FIE3THES504%F 58,900 0.0 58,900 0.0
B 27 AR4ATH1628% AR4—16—21 31,100 -0.6 31,300 -0.6
B 28 FHIFE2TH6160F |#FHIEF2—104—10 53,000 1.1 52,400 1.0
B 29 KE1TE2306% 73,300 0.4 73,000 0.0
B 30 EXR3THI08F 14 |EX3—3—17 56,800 -0.7 57,200 -0.9
B 31 B¥%2TH1518% A¥%2—15—23 50,100 -0.4 50,300 -0.6
B 32 FAF1TH2905F4 |[LIEF1—29—4 54,700 0.0 54,700 0.0
B 33 RLSFET29F T EM 17844 17,600 0.0 17,600 0.0

B 34 )= n4Y8TE171& — 25,400 -1.6 |[R64AK1E
B 35 AEATOFT Y 56%238 12,400 -2.4 12,700 -2.3
B 36 AEET30F A H20% 14} 15,400 -0.6 15,500 -0.6
B 37 WERI1ITHS19% WE1—-5—6 67,100 15 66,100 0.9
B 38 XHE1THE3011&1 XH1—30—22 67,300 2.3 65,800 1.1
B 39 Z=RT42F /N B3 734} 13,800 -1.4 14,000 -1.4
B 40 EFHABT2TH805& 42,000 2.2 41,100 0.0
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&3 5—1 X|KF2TH2002% XF2—6—1 360,000 5.0 343,000 0.9
& 5—2 hR1ITH119% hf1—9—28 395,000 3.7 381,000 1.9
B 5—3 hR1TH1824%F4 |FR1—10—-1 406,000 6.0 383,000 — ROEFEE
B 5—4 hR3ITH1618F4 |FHL3-5—21 150,000 0.0 150,000 0.0
&3 5—5 KFITHE1203%F XF3—8—6 218,000 1.9 214,000 1.4
B 5—6 KF2TH1109% XF2—20—-12 122,000 0.0 122,000 0.0
=Eas 5—7 X|EX1TBE206%F4 EX1—2—21 81,800 -0.8 82,500 -1.0
=Eas 5—8 F2TH912F4 64,400 — — — R6ETEE
f‘i BH  5-9 2¢£1TH206% 2¢41—3—9 63,600 0.8 64,100 0.9
_| s =Eas 5—10 HzH2TH1008%F |[AZzH2—3—21 127,000 4.1 122,000 3.4
3 B 5—11 WAR4TH709%F WwARK4—7—14 102,000 0.0 102,000 0.0
4 =Eas 5—12 ESAFR1TE306%F 62,400 1.3 61,600 1.1
B 5—13 FOYE3ITH128%F |[dAMYEI—1—14 85,000 0.0 85,000 0.0
. &3 5—14 FK1TH610FH 69,800 0.4 69,500 0.4
&3 5—15 A1 TH1609%4 — — 44,500 — R6{A1E
B 5—16 KF2TH2910% | KF2—2—-15 195,000 8.3 180,000 0.6
&3 5—17 =1 TE804%F 75,000 2.0 73,500 2.1
&3 5—18 E#2TB3305%4 39,000 — — — R5{ALE
&3 9—1 EHBE1THE101ES 16,700 0.0 16,700 0.0
&3 9—2 AiEET29FL;E73&34 10,300 — — — R6E E &
; 1 9—3 FIEHE1TE812&4} 47,700 1.1 47,200 0.0
th faH 9—4 FEBHITH207& 47,000 4.2 45,100 1.6
B 9—5 EXRET201%E 22,000 0.9 21,800 0.0
B 9—6 B RT28Ft52% 22,900 0.4 22,800 0.0
3HE 1 HETEKE2TB11%&8|E/KAET2—11—10 68,100 1.9 66,800 15
, i HE 2 BET1 TEH4003%F |&MET1—40—4 46,400 -0.4 46,600 -1.7
® 2 HE 3 4865 L R2%E6 40,800 0.0 40,800 -0.5
=) iﬂ HHE 4 HFik285LEF1&7 26,200 0.0 26,200 -1.1
Fﬁ BE 5 E/7IGET13%E4 4 IEET10—11 38,400 -0.3 38,500 -1.3
S BE 5—1 AET2TH12%5 AET2—12—3 79,500 2.1 77,900 1.2
HE 5-—301 A ERT409F S I EBT4—10 68,200 0.3 68,000 — RE$TER
e INE 1 INETEIBTS 4% &)IIBT9—5 49,900 0.0 49,900 0.0
Moz INGE 2 KE1 TE707%&2 FKEN1—7 —21 36,200 0.8 36,500 1.1
iR iﬂ INE 3 ZH155FR12%4 31,100 -0.3 31,200 -0.3
T g INE 5—1 ERBTET26 59 A39%7 |ERAITATS —21 55,800 -1.2 56,500 -1.2
Hh INE 5—2 Fh165T/M1&E 14 53,600 0.0 53,600 0.0
x| & KE 1 REHEJIETQ07&E3  |EJIET9—8 17,000 -3.4 17,600 -3.8
% ﬂ%ﬁ KE 228F&IL—37&F 145 |WE8—10 17,500 -3.8 18,200 -3.7
KE 3 EBT906%3 18,100 -2.2 18,500 -2.1
T g | X8 5—1 225FHESM126% 1 T 7—21 31,400 -4.6 32,900 -4.1
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. i fgs L 1 BILT A2 TE2122% | A FET2—2—40 14,400 -2.7 14,800 -2.6
B E fgsLL 2 FEFIET1 T EH512%5 |MAFIET1—5—24 15,500 -25 15,900 -25
L & i1 3 RIS TE821%&7 FTHI3—8—66 13,500 -2.2 13,800 -2.8
o T‘i Bl 5—1 THT1THO18%& STET1—9—21—4 27,600 25 28300 2.7
th i1 5—2 7L ETHR6F K{L103%F 19,600 1.6 19,300 1.0
figiL 1 & IHFEIETO19% FIIRTO—11 32,500 0.0 32,500 -0.3
52 5T 2 AET4TBH520% KET4—5—3 34,100 0.0 34,100 0.0
it f@ 5T 3 KZEETSTH1602%F  |/KEEI3—16—3 41,100 0.0 41,100 0.0
A figiL 4 FLILET2T B322% 24} |#LILLET2—3—27 37,500 2.7 36,500 2.2
ol figiL —1 AET2TH235% AHE[2—2—22 43,000 -0.9 43,400 -1.8
E 3 fi&iT — =NET2TH1178&4%  |[=RE[2—1-13 35,700 -0.6 35,900 -0.6
iﬂ figiT — INEET1TBES14%FS  [MNEET1—5—14 39,800 0.0 39,800 0.0
HH 1 HhHhom—mE1TH703% 19,400 -3.5 20,100 -3.4
b 4 HH 2 PH;RER2T BH508% 15,900 -1.9 16,200 -1.8
+ 11%13 Hhi 3 miE1TH231%& 11 HiE1—15—7 23,100 -0.9 23,300 -0.9
i HHL 4 EH1TE317%H fETm#1—-16—5 23,900 -1.6 24,300 -1.6
° HH 5 BH7E2TH2105% |BHYE2—21—21 23,000 8.5 21,200 55
i f‘i Hhd>  5—1 ER3TH6G08E 41,100 ~21 42,000 34
th HH 5—2 H=E1TH506&145 |[FE=E1—9—41 37,100 1.1 36,700 0.3
& AL 1 BATHXE2 T B50FMA14%E65 [ LF2—15—2 38,200 0.0 38,200 -0.8
18 F AT 2 FE1TH48%FS34 FE1—-13—29 36,200 -0.5 36,400 -1.1
% fEHMET 3 B FE BT5 2 Fh A2 13 241 15,000 26 15,400 25
| # | EHBET 4 FH2THE3201%24 [FH2—-32—31 36,500 -0.3 36,600 -1.1
s 18 F AT 5 dtFrElr112%&2 35,600 0.3 35,500 0.0
& AL 6 BARE7F/\THI58%2 22,700 -2.2 23,200 -2.5
i fBHFHET 5—1 FHP1TH13F10 Fh1—12—26 59,700 0.0 59,700 0.0
f‘i fBFHE] 5—2 Eff1TH412%2 Eff1—3—16 37,900 -1.3 38,400 -1.8
th | fEHEE] 5-—3 EHEET27FEAIE1 781 25,200 -1.9 25,700 -2.3
fBHHET 5—201 BRET6FE/T12%& 145 45,000 0.0 45,000 0.0
Y H 1 IR = ERTMBE2 T B 12% | = ERTMEH2—3—11 17,300 -5.5 18,300 -3.2
¥ 3 2 —EMFE1ITEH617E |=EEHE1—6—11 21,800 -2.2 22,300 -1.3
f P 3 AEETHEALIT EH31H 24,800 -2.0 25,300 -2.3
= ¥R FH 4 HEETS1E13F31F 244 30,700 -0.3 30,800 -0.6
CH ¥R FH 5 HIMIE TEH120%2 34,700 2.1 34,000 1.8
F* ¥R FH 6 ZIIATIE EXM3E 144 32,900 1.9 32,300 1.6
Fﬁ ¥ 3 7 WHBFHE2TEI21E 28,900 0.0 28,900 0.0
P H 5—1 =ERTLART1 T H69% 14| =ERTLABT1 —4—45 28,400 -3.7 29,500 -3.3
g IR  5—2 RAETAET1 TE19% 29,000 24 29,700 ~36
Hh IR FH 5—3 HFIRAEFE11E1 33,800 0.0 33,800 0.0
e 5—4 IR EFES2FIE ) b 1351 29,000 -0.3 29,100 -1.7
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5 (£ KEH 1 SEAK TSI F1 T B520% 43,900 1.2 43,400 0.9
[z =
i th KIF 2 WEZR1TH48%E 34,200 0.0 34,200 -0.3
BT | BEdh | KEF 5—1 fAFEfHBA1 TH 155% 34,200 0.0 34,200 -0.3
e FEAT 1 P BRATETE B b 1 T B 404 %4} 27,400 1.9 26,900 15
SN - A WHE114FTRMeE2 14,800 -3.9 15,400 -4.3
ﬁ” i g s N =
T t AT 3 IR67FFIL60ES 8,500 -3.4 8,800 -3.8
M | AT 5—1 NE18FI=ZVE14E 27,100 0.0 27,100 0.0
% % fRHFEE 1 =HHERMET 105 RIE215E 14,300 -2.7 14,700 -3.3
| wm | EBHEE 2 ARFASBIEAE2E 15,600 -1.3 15,800 -1.3
T B | fBHEERE 51 135 HE1E2RN 24,000 0.0 24,000 -2.4
- | & |#E#mE SRR 7 AT RS 41,500 05 41,700 12
=] = =
| o | EBHEE 2 FMA111FHEHAE 27,500 -2.1 28,100 -2.1
T EEM | BHEE 51 =I%73FEIG8E7 46,300 -1.9 47,200 -2.1
EE =% 1 =75 L o AR SRET AR )11 S 48)11 1B 20 22.600 -1.3 22.900 -1.7
e = =
E th RS 2 mi518 5 R ESEGS 17,700 -3.3 18,300 -3.2
BT g %k 5—1 EiRAOER E31E45 22,400 -30 23,100 2.9
th = Ix 5—2 H/0O0365MEAR7EIS 22,600 -3.0 23,300 -3.3




